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(1) FHREHERE DT E
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90,700 (F3/*.) X 09576 + 93,100 (A/*)  x 0.0466 = 91192780 (/%)
= 91,190 (A/*.) XIOARBEEDHEREA
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< FHREHTRE > < BAET Y FRHTS >
91,190 (H/*.) - 83,350 (H/*.) = 7,840 (H/".)
= 7,800 (A/*.) X100 FKFEELNE T
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< FURHTEAE 2 BhEE > <HERE>
7,800 (H/".) X 0.081 (F/m) = 100 (/%) X (1 + 010) = 6.9498 (3/m)
= 694 (H/m) MINREEIMLUTEYET
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<HEEHGHEE> <REBHEBMORAELE> <BUFZIES >
169.03 (F/m) + 6.94 (F/m) - 15.00 (/m) = 160.97 (A/m)
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160.97 (4/m) — 159.37 (F1/m) = +1.60 (A/m)
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<HAHE> <REBHEBIH> <ARERAE>
1,588.88 (/A) + 16097 (H/m) X 31(m/A) = 6,578.95 (M/AR)
= 6578 (M/H) XIARBEYIET

Lk



